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Find the value of 7 +63

(i) 559 (ii) 556 (iii) 558 (iv) 561 (v) 560

Find the value of113 + 103

(i) 2333 (ii) 2331 (iii) 2328 (iv) 2332 (v) 2330

Find the cube root of 729
(i) 84 (ii) 81 (iii)) 12 (iv) 9 (v) 6

Find the cube of30
(i) 26997 (ii) 27000 (iii) 903 (iv) 27003 (v) 900
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Find the value of27°3 +263

(i) 37262 (ii) 37256 (iii) 37258 (iv) 37260 (v) 37259

Which of the following is a perfect cube?
(i) 28 (ii) 514 (iii) 216 (iv) 63 (v) 123

Which of the following is not a perfect cube?

(i) 27 (ii) 128 (iii) 729 (iv) 64 (v) 343
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The smallest number by which 500 must be multiplied so that the product is a perfect cube is?

(i) 2 (ii) 1 (iii) 4 (iv) 3 (v) O

The smallest number by which 5184 must be divided so that the quotient is a perfect cube is?

(i) 2 (i) 3 (iii) O (iv) 1 (v) 4

Find the cube root 0f4913
(i) 17 (ii) 292 (iii) 20 (iv) 14 (v) 289

Find the cube of8
(i) 67 (ii) 509 (iii) 515 (iv) 64 (v) 512

Find the value of123 =113

(i) 397 (ii) 394 (iii)) 396 (iv) 400 (v) 398

Which of the following is a perfect cube?

(i) 1000 (ii) 731 (iii)) 7 (iv) 28 (v) 509

Which of the following is not a perfect cube?

(i) 27 (ii) 346 (iii) 729 (iv) 8 (v) 216



15. The smallest number by which 675 must be multiplied so that the product is a perfect cube is?

(i) 2 (ii) 6 (iii) 4 (iv) 5 (v) 7

16. The smallest number by which 11664 must be divided so that the quotient is a perfect cube is?

(i) 3 (ii) 2 (iii) 0 (iv) 4 (v) 1
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